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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (1) Give two points of differences between ‘Book-

Keeping and Auditing’.
T Td STREU H ql TR sy |

(i) What is an ‘Audit programme’ ?
SThE HEEH FM T 7

(ii1) How will you verify the ‘Cash in Transit’ ?
‘et H A’ H TAUH AT HY B ?

(iv) At whose advice and by whom auditor is

appointed in government companies ?
WEHR FHE | Thea & g fohes g
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(v) What do you understand by ‘Propriety
Audit’?
Mo SThew ¥ 9 R A € ?
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(vi) What factors are considered by company 3. How would you verify the following ?

auditor while auditing Securities Premium ?

FHEAT SThER 5 Tfayfa N &1 she s

(@) Investment

T99 g 9o F e § e S S 2 (b) Trade Debtors
(vii) What are the objects of Investigation ? s Frafafed &1 9@mda ffe geR w9 2
Mention any four objects. (a1) fafm
HTGHH & M T © 7 FE AR Ievd AT (=) e
Section-B 4x7=28

4. “An auditor is not an insurer, he does not guarantee
(Short Answer Type Questions) &t

. correctness of the Balance Sheet.” Discuss.
Note .— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks. “3Theh TH AWE TRl ©, 98 TU3 Hl weadr & TRE
Qus—d T Tan” e wifsw)
(e, ST W) 5. The directors of a company propse to distribute
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2. What is meant by Audit ? Discuss the basic

capital profits as dividend. What would be the

duties of an auditor in this connection ?
T FHEA & GO YST i W W T st
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principles governing an audit.
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. What is meant by ‘Supplementary Audit’ ? What
points are generally covered under the
supplementary audit of government companies ?
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. State clearly the difference between ‘Provision’ and
‘Reserve’. Discuss the auditor’s duty in relation
thereto.
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. What is ‘Internal Audit’ ? Mention its objects and

advantages.
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. Write short notes on the following :

(a) Partnership deed

(b) E.D.P. Audit

Frefafen w wfyw fewforel fafew .

(37) WPEH HerE

(F) 3. eThe
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Section—C 2x14=28
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

FoeT o

your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. What is a Voucher ? How would you vouch the
following ?

(@)
(b)
(©)
(d)

Preliminary Expenses
Managerial Remuneration
Cash Sales

Bad Debts
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(31) IRMYF B

(F) yauwE dRyfHs

(|) g foama

(T) @ =B
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11. Critically examine the liabilities of an auditor
(a) towards third parties and (b) for misfeasance.
(37) @R 9eHR & G q@ () HdA SoarEd W
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12. Distinguish between a ‘Clean Report’ and
‘Qualified Report’. Draft an imaginary clean report

for a company having a branch.
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13. Write explanatory notes on the following (any two) :
(a) Balance Sheet Audit
(b) Investigation of Accounts
(c) Efficiency Audit
frafafeq W = fewfoat fafen (+E @) .
(a1) fogr stehem
(F) e STgEEH
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